B VCE & PDF https://lwww.geekcert.com/cv0-002.html
' 2024 Latest geekcert CV0-002 PDF and VCE dumps Download
: GeekCert.com

CV0-0020%As

CompTIA Cloud+ Certification Exam

Pass CompTIA CV0-002 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.geekcert.com/cv0-002.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by CompTIA
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest CV0-002 Dumps | CV0-002 PDF Dumps | CV0-002 Study Guide 1/3


https://www.geekcert.com/cv0-002.html
https://www.geekcert.com/cv0-002.html
https://www.geekcert.com/cv0-002.html

VCE & PDF https://lwww.geekcert.com/cv0-002.html
2024 Latest geekcert CV0-002 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

A company is migrating to the cloud and needs to implement a security policy. Which of the following should the
company implement?

A. Redundancy strategy

B. Integration strategy

C. Disaster recovery strategy
D. Patching strategy

Correct Answer: C

QUESTION 2

A company wants to leverage a SaaS provider for its back-office services, and security is paramount. Which of the
following solutions should a cloud engineer deploy to BEST meet the security requirements?

A. Firewall

B. IPS/IDS

C. Proxy gateway
D. CASB

Correct Answer: D

QUESTION 3

Company A recently acquired Company B. A cloud administrator needs to give access to the accounting and time-
reporting systems for Company B\\'s employees. Company A\\'s employees use a single account to access both
systems. To give access to Company B\\'s employees, the cloud administrator should:

A. add Company B\\'s user account management system to the federated identity system

B. create a new account in each system for Company B\\'s employees and distribute the credentials

C. create a shared account named "Company B" and distribute the credentials to those who need access

D. add new accounts in Company A\\'s account management system, mirroring those in Company B\\'s

Correct Answer: A

QUESTION 4

A cloud engineer is upgrading a high-performance computing cluster for the private cloud. The existing cluster is being
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replaced with GPU servers. A single GPU server is capable of the same teraflops output as 10 CPU servers. The
current cluster configuration is as follows:

1.

100 quad-core CPU servers capable of producing 100 teraflops.
2.

The baseline and current usage is 100%.

The new cluster was set up and benchmarked in four different configurations. Which of the following configurations will
meet the baseline teraflops performance of the cluster while maintaining the current usage?

A. 1 GPU server, 80 CPU servers

B. 2 GPU servers, 50 CPU servers
C. 5 GPU servers, 40 CPU servers
D. 9 GPU servers, 10 CPU servers

Correct Answer: D

QUESTION 5

A company needs to meet the security requirements for PIl. Which of the following cloud service models allows the
company to have the MOST control to meet the security requirements?

A. SaaS

B. laaS

C. PaaS

D. XaaS

Correct Answer: B

Reference: https://www.omg.org/cloud/deliverables/CSCC-Cloud-Security-Standards-What-to-Expect-and-What-to-
Negotiate.pdf
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